
Facts about geometry of (R2

2 = (3) = (R2 can be thought of as a point in
IR or as a vecter Ku

B x

If a = (2) , 6 = (bi a b = a,b , tazbe
It a 6 = 0 means a and b are

perpendicular .

Fix a : (a) .

Which CEIR satisfy a = 0

(an

ans : all ex on the line perpendicular
to a that goes through & . ↑

a = b q C

9,4 +92 = O

Which EIR" satisfy aic =b bel

as : all on the line perpendicular to a
but through some other point e .g. blaz

apctaib goes through (ii) = (baz)
What happens to the line aT2 =b as b increases.

as : it stays perpendicular to a but move
in the direction of a
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